SA ’ DO NOT OPEN THE SEAL GFmElﬂOKLETM'WUAREWLD TO DD 80

BH mi? - Test Form No.
3 H.
oG PAPER T, oty
1029998 T 777 TG 8
Tinse Allocved : # Hoors Muziomuen Muries : 200
#Eﬁarm 3@ : I w200
Pl they gl 0 S ey cp st This Eocdied ool Engiiah s woll as In Hircll,
nﬂtmﬂimﬁﬁqﬁﬁmiﬂilwgﬁimﬂﬂﬁﬁiﬂiﬁi|
1. This Tecklket conirms 28 - ullm fallowing Qe i 1, fef B o i woftm
. i Mkt conirins b Ty | [ ] 1. ™ WA B TS :
T L Cmerdl buxlligpreceand feapsing w0 uestiorsy | - TOMP i T W adw W 58 TR)
Tt {E .ﬂrﬁlﬂm L Custioes) wlwa i) ¢ oweel R {hity T
Test i) - 2 el E et {100 Choesdioza e i) W — % e {10 e
il ﬁm“uly © ()
Part~ B Geners] Enplnnersg (108 ueaiora] b _ Ty RAE " 1100 =
iy ]
L B mhﬂ c;r;“ Eﬁmmm Mnm :_ﬁn; ﬁm “_l,ll;l';tﬂ:.lﬁmﬂ# ':mg:?ﬂ
] ca E i L] By
2 Tarl s m.'q.'fﬁ"”"“‘ e el Teatdl Gimesl Feady
S:H:].I-#T:d-lﬂ{.hndh e .
HM@?‘H OR T 8 |mui DE'M?
wlhu_i-i-mn
LN A.Uquﬂﬂnuul ek Sdy Sl
5. mmmmmmurmwumm_& A
e W R A, 1.5

- i i
N AR
Y _ .
%WM qumnmwg: : ?Tw v
:n:kmm E&d ﬁL.uu ey v ) abe = wen ";:‘;h?ﬁMI
B s v o FEm i e T s xR e
g nﬁ&ﬁ ““"uﬁ"“““ mmm-ﬁmm‘%h#mqm,m
] :H;l“ T i ook hwnmm [N g‘ﬁuﬂ:&?ﬁﬁ o
" e D T v e e e ST | % T e ke s § e B Pt B o

'::mﬁ mfwm..mnﬂd.nr'qﬂh mﬁﬁ-ﬂl
maw—; Bt rvar 0 L Fevvigilaion befare vom | B0 whwt et it o T B et
ﬁ:;ﬁzﬂm. llﬂﬂlhwlﬂuﬂnnﬂu: 10, = IWiiMq‘uﬁmtmﬂmm
L& The juanss m "-’h uﬂﬂ-wﬁtmgﬁw 'Fimm'::ﬁ 7w
%ﬂ“ﬂ:’uﬂ"‘*““ ’“‘E."‘n' e Qe WERER G aE o DB ma & ol e
mh-"hﬁ'ﬂmmwﬂﬁq b"m‘ﬂ"nﬂ n.w-liimm:uq‘.ﬁﬁnmigwmmmm
::r. wmﬁmw Epwen o | g m'wm#-!qqﬂih_wﬁ
Can 15 Wwﬂ;:%i b s ]
%‘mh?m‘ d_ﬁ*'# o g‘ﬂ"ﬂdﬂummmﬁﬁm

i amewEaten dirioss whil
own |mie, hl- - _m.mh ol | P AEOE W AR A = F 9l § agfe ool |

W-:-um thim [ncloding roncelotion of Lhefr| VI WEN A o ey webd @Owelt, Tkt

E
,!'
:

Dowmload From: http://sscportal.in



TEST {i) : GENERAL INTELLIGENCE AND REASONING

Direclions : o guestions no. | o 9, zelect the 4., ¥3:8::32:; T
refated  figurefleticr Snumber  fromn e gEven (A 6 B 9.
aiternatines. (Cr 17 m 27
L. Guestion figures : ’
8. MLEJ]:NOPQ::IHGF: ?
= e . i Al UTSR (B) RETU
- -w L " g
. it I % . ? (C) SRUT © D) UTRS
F | & ACEG: ZEVT . BDFH: T
Answer figures : B YWLE o i
: S— . (Cr YWYT (I YEVW
1 Sy
1= K ] §7. BADC . XWEY::FEHG: 7
S | (A} VXET B TSVU
' Wy VROV (D) VEXW
(A) 18) (€ (D}
A E.'-T—::I-I!:.? '
2. Question figures - ) ) o8 13 1% —
<14 14
| {2, )ll - . - ‘? LA E (B} ﬁ
by - - L] - 'G} H lD: E
. : - 23 25
9 d4:5::8: 7
Anewer fgpwres: A 14 B) 18
. Birections ; In Mmm ng. 10 io 18, seleet the one
(A} (B) (©) (0 whick in different from the olher thres responses,
' . 10. {A) 7-146 By 6-108
8. Question figures : iCY B-76 (I 444
T 11, {A} Mars (B} Jupiter
’ {C) Earth (D} Comet
¥2, (A} Gesta {B) Curan
{C) Bahle {D" Mahabharat
1% (A) Mossage (B} Information
(C) Matter (D) Material
14. (A) Guitar (B) Veena
(C} Flute (D} Sitar
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15

16.

17.

18,

18,

A1 17 - 142 By Fl—134

W 41— 28 {0y 14— 28

Al 3,6, 7,8 (B 6,79, 11

i2h 4,6, 8, 10 im 2,64910

1A} BGEZ (B) 8731

2 i628 D) 2864

1A) Tagore (B). Raman

(Cy Bhaskara {Dy Ehurana

Arranpge the follvwing words in a meaningful
grder !

1. Grapes 2. Vineyard

3, Whisky 4. B_rg-adng

5. Dhistillation

A 2,1.5.4, 3

(Bl 3,535,421

(Cr 2, 1,4,8. 56

iy 2,1, 4,5 3 v
Which will appear fourth in the dictienary ?
(A1 Xylophilons

B} HXylophagnes

G} Eylopyrography

(0} Xylophagan

Mumber of Llotters skipped in  between
adjacent letters in the sorics ineresses by one.
Which of the following serics ohserves the
rule given below ?

Ay BEIN B COWJO -

(2 GWLS () LI

In the Wllowing words, H}e group of betters

ahould et contajn more than three vowels.
Which of the following  words does nod
conform to the rule ?

(Al SCARCITY

(B PROGNOSIS

(c) COMPLEXITY -

Dy COMVULSION

23,

26,

28.

28,

Direclions @ In questions wo, 23 to 25, choese the
correct alternatives from the givee pesponees Dot wall
conplels the seriea.

-7, SV, EHK, TWE, ILO
(A) BEH
{0y ACG

B IMP
{Ih AIM}

78,86, 7,88, 82,90

1A} 76 w84
() 88 iD) 20,
3713 2 514387

1A} 51 (B} Al
iCh 41 Dy 21

EJOT, INSX, AFKF,

{A] CHME
Cy BGLY

(R} XTOWI
(M EIOT

My father haa two brothers, The youngest bas
two sons ami one daughter. The elder one
has sne son and Lwo daughters and the
remaining one hag threc sons. IF my [uther
hag four nephews, how mony oousing

- (brothers) have T got 7

(A) &
oy 7

By 4

.[Dj 5

Find the wrong number 1o the given series.
3,7, 16, 31, 84, 127

[A) 127 (B) B4

iCy a1 iy 3

A car covers the first half of the distance
belween two places al 40 km/hr and the
second haif of the dstance at 64 kmdhr. Bo
what iz the average speed of the car 7

(A) 46 knfhr
{C) 50 kmhr

(B) 48 kmvhr
(D) B0 wmhr
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a1

- In B certain code language, TOGETHER is

written A EGTORETH. How ig
CONGRATULATE written in that langnage

(&) ORTULTEANOC :
@ CNCOUTRARTLA '
(C) GNOCUTARETAL

(D} GLNACTCEURTA

In certain code language, REQUEST is
writtenn 88 S2HS52TU. Heow iz HETEST

writben un that language ?
{A) SaVaRvY W\ S212R1T
D} S2VeTV

1C BauzTu

Some equations are solved on the basis of &

cartain aystem. On the same bazs, find out

the torrect angwer for the unaolved equation.

Hd4=76=7 6 =0 thmP=? '

(A) 14 {B] 13

i (o8

Find out the nuwober which belongs to the

given group of numbers from the ﬂhﬂaﬁvu
246, 5TO, 185, 35, 68

(A} BB {B) 468

<y 123 Dy 31

[f P slands for +, Q stends for =, R-stands for
+, then

18 12P4RKb=7
{A) &9 (BY 28
wy 119 my 233

From the givan alternatives, selact the ward
which comnad’ be formed wsing the letters of
the given word.

ACCOMPANIED

(A) PANIC (B COME
) COME ) BAMR

8.

(A} North

Directions : In questions no. 36 and 37, find the
missing number from the given responses.

5 21 %

(A) 43 B 17
(c) 23 "D 87

] 11 25

B 3] llﬂ

7 B 14
A} 10 B) 14
) 12 o 16

Bam treivelled & fi towards West, he turned
left and walked & f. then torned left and
walked 4 ft, then turned left end walked 8 fu
again. How far in he now’ from the starting

point 7 :
Ay BRY (By 6N
i af D) 2f

How many black-faced cubes are thers: in the
given ctruciure ¥

(&) .75

icr 25
The door of Priye’s house (aces East. From
the back gide of the house, she walks straight
50 meters, then turns to the dght and walks
60 meters again. Finally, ghe turns towards
the left and stops after walkiog 25 meters.
Now Priva is faving which direction ?

(B} Weat

(T} East T Smuth
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41,

In the following diagram, rectangle
represents malea, cirele ropresents urban and
square reprecenis educated. Which region
represents educated urban males 7

as)
T/

(&) B (B) 4.
cr 8 m T

In the following Verm diagrem, identify the
letter which denctea Film Actors who arme

Sangers bt not Directors,
Film Actors| A B FJDmcm
b lCl B
¢
Singeea
(AY Id B C
(©) E o F -

ldentify the angwer figurs from which tha
pisces given in the question figure have been
cuk,

Queation figwre ;
/D
]
Angurer figures
(A (B} ) 7 i

Directians : Tn queations no, 44 ond 45, one or fuo
rladamaents ere given, followed by two conelusions [
and [T, You haue te consider the ataiemenia to be
true cven & they seem o be o vonionoe from
commandy known facte, Yot kave to decide which of
the given conclusions, if any, follows from the given
slatemenls.

|44 Stotement :

A pocial movement ia an interaction of people
with & coommon motivationsl base in
frustration.

Conclusions :
L In a social movement, people who wre
*  patisfied interact with frestrated people.
II. Prustrated people interset with each
other in a soris] movement.
(4) Only conclusion 1 follows
{B) Only conclugien IT followa
" (C) Neither conclusion [ nor IT follows
(D) Both conclugions I and LI follow
45, Statements : ' ‘
All  scientista are hard-working. No
hard-working man is poor.
- Conclustone ©
I Mo scientizt is poor.
O. Neo poor man ls o scientet.
(A} Unly conclasion 1 follows
(B3 'i,hl?nﬂnl:luuinuﬂfuﬂlmu
{C} Both conclusions ] and II fallow
{0 Mene of the conclustons | or I follows
46, Which of the answer figures iz exoetly the
mirror image of the given figure, when the
. mirror is held on the lins AB 7 :
Question figeres ;
: A

Y M
o] P4

TETErrT AT ARy

E

o

TAY A . (141
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47. - A word i represented by only ane 8ct of | 49 Guject the amswer figure in which the
: numbers as given o any one of the| | . .
slieriacdvie: Thiv asts of Ak iven in the guestien figunre is hiddenfembedded.
alternatives are represented by two casses of
alphabets as in the two matrices given below. Question figure :
The columns and rows of Matriz I are
numbered from © to 4 and that of Matrix 1]
are numbered from 5 to 9. A letter from theae |
matrices can be represented frst by ite row Y
and next by its column, eg ‘A’ can be
represented by 13, 76, etc, and ‘G’ can b | )
represented by 22, 65, ete. Similarly, you Answer figures ;
have to identify the set for the word
‘FUBLIC.
Malrix [ Matrix I
0|1[2(8]4 slefi]afe N -
lA|U|O|T|B 5| PITIA|M|E — o :
1|{T|E|F AW GIG|I|O|TIM @A) ol (c o)
ZIRM|G|G|T]| T|IEJAJLIT|M 1'
1|UM | M(C|L S|R|A[BILJT] E
41P|L |K|E|C| |[9|N|P[B|GI|P
(A) 12,30, 87, 41,66, 83 _ ' _ .
(B 99, 30, 87, 77,93, 44 M. A piors of paper iz folded and punched as
SCY 65, 01, BT, 98, 34, 87 ) ) shywn below in the gquestion fgurea. From
(I} 40, 30, BT, 89,24, 43 the given answer figures, indicate how it w1l
appenr when opened 7
48. Compunenls of which of the answer figures Question figures :
will exactly make up the question fgure i
given below. N .
Question figure: 1 T ETN ?
: h\'\ | ™ ‘ L ]
E‘ r | ,“ ‘
Anznver figures
Answer figures :
— IS at— P o 2] llle 50
BN = D e T L LS LIS L [
= -, O”f‘“‘t . “o° @ o ofl|leeo e
1A) 1 VI | 4 IR+ | ) iAY (B iy (o
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31.

TEST (ii) : GENERAL AWARENESS

Who was the firsl eeonemist 1o have coined
the terms “Micre Fronomics” and “Macro
Eeonomics” 7

(A} Milton Friedman

(B] Ragnar Frisch

() JM. Keynea

- (M} Paul Samuelaon

Iu a free enterprise econoay, the decision on
what shall be produced is made by

(A} ' Demand

(B Income

{C} Priee mochani=m

M) Coat

The main resson for the high grewth of
money aupply in India since 1970 has been
the rise in '

(A} Foreign lending

B} Foreign borrowing

{C) RBI credit to the grvernment

(D) Bank credit to the private sector

Who was the first Muslim to be slacted as
Fresident of the Indisn Natipnal Congross 7
(A} Syed Ahmad Khan '
iR} Agha Khan

{C} Muhammad AK Jirmah -

{D) Badraddin Tyabji

‘Which of the following was mof known to the
Rigvedic parind 7

(&) Joint fumily aystem

(B) Agriculture

(C) Maerriage system

(1 Varna system

85. The charseterigtic - fonture of democrabic

7.

aocigliam is
(A) Privatization
i) Nationalication

B} Ubﬁﬂﬂi‘ﬁm

D) Socialization

If & growp of rich people use power for their
pelfish goale, it ie called a8

{A) Monarchy

{B) Nigarchy

() Polity

M) Democracy

Who ssid that "Man is bom free and
everywhere he i in chaina™ ?

{A) Locke (B} Aristotle

(C) Melarx iTN Rousseau

A civil gervent in India may exercise political
liberty by

1A} jouung any puliticsl party

{B] eontesting in the elections

{C) exiticizing the government

(D} exercising his franchiae

The ienn Law’ used in the phrase Rule of
Law' vaforg to

(A} Pombive law

L) Natnral law

(G} Common law

It} Conventiona of the Constitution

The . total physical prodnet per wmit of a
variable input is lonown #x

(A} Average product

(B} Average retarmna

(C) Avernge phywical product

(I Averege revenue

The discount on price when a large quantity
is purchansed is known as ’ ‘

(A} me_mnunt

{B) Maximum disconnt

() Mintmuom diseeant

{0} Marvmal digeoumt
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‘(&) Hagfiah

 What typenéfrait is pineapple ?
(A) Siliqua () Sorcsis -
(L) Byconms (D} Bamars

Strobilus is & atructure sesetated with
(A} Tea _ Bl Folato

C) Pinus (0} Palm

Signet-ringis seen in the life avele of
(A} Moaquoito 1B) Flasmu-chum
{C? Entamosha D) Giardia

The number of oeclpital condylos in man is
A& One iB] Two
{2 Three {DF Poue

Migratory -~ farvae  of Ascarie  produce
syrnpboms of peeumonia. This is known s

(A} Down's syndrome

(B) Hlinefelter's synd-oine

(C) Tarper's syndrome |

(D) Loeffler’s syndrome

Which one of the Gllowing amimals ia an
osmoconlformer 7

(B} Sout

{C) Whale (I} Hoha
Which one of the following is the ssurce of
Holar enermgy 7

(A) Nuclear fission

(B) Nuclear fasion

(C) Artificial radicactivity

(D) X-ray emigeion

Whe, for the first time, succeasfully
determined the ehargs of an El_en‘!;mn 9

(&)} Thomson B hﬁ]llhn =

(%} Rutherford (D) Coulomb

b L

7L

T4

The first Muslim king who ioveded Seuth

" India was

(A} Balhan -

(B} Mohammad bin Tughlag
iC) Babur

¥ Alanddin Khilji

The Great Path was located in

{A) Harappa (B] Mohenjodarn
{C) Lothal (D} Kalibmngan
The Mughal jodicial system was based an
{A) Tersian law () Hebrew jaw
iC) Islarsic law (D) Indian law
Hurncanes are pecerally

(A} active over the land
(B) travelling in familics
() dust storms

D} ackive orer the sea

Orinoes oil belt iz in : _
{BY Baudi Arahia

(A} Dubai
(C} Venezuela (D). Brazit
The highest peak in Africa i
(AY Aeonesgun
{BE) Kilimanjar
{C) McEinley
(D) Mount Elbrs
. Alayer of the Earth made up of mixed metals
and silicates 15 called e
(A Sial (B) Sima -
(C) Mantle (DY Nife

The exhaustion of il fertility is the result of
(A} Cover eropping

B} Multiple cropping

1Ci Rotatien cropping

(D) Orver cropping
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81.

" Injectiore. of weakened microbes to eonfer

resialance o a diseame jy ky_xﬂ: as
(A1 Transfusion .
{B! Vaccination

(€)1 Inoculation

(D} Imcimation

Who, ameng the following, is the author of
Das-Kapital’ ?

LA} Honssean

(B} Karl Marx

€} Chanakya

{0 Montesguieu

When and where will the next Olympics be
held 7

4] Bedjing, 2014

() Shanghal, 2012
(G Hin-de-Ffaneir, 2016
(D) Taivwan, 2013

hFeninu;fm-mnfaingingap'mmiamlléd

(A) Ghazel (B Qawrali
{£) Thumn {D) Bhajan
Green-houte effect canees

(A} igcrease of lemperature
(B} increase of molsture in air
10 decrease of temperature
(I} derreass of modatuee in air

The advantsge of mnuwat.er hearveating is
that it

(A) helps in reducing focds
(B]. intresses the ground water lmrd
{C! causesrnorfe rains

(D) reduces floeds and replenishes groynd |

waler
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The *zolder’ used flor nmrmei.mg eloctronic
cirowits oongists of

(A) Lead aml Tin
() Tinand Iron

(C) Copper and Lead
(D Lead and Aluminium

What type of molecular motion is mppnmhlp
for heat conduction 7

{4) Translational

{B) Vibrational

(C) Wotational

D} Spin

Pick the odd ooe out.

{A) Compiler-

{B) Interpreter _
() Assembler I
{0} Word provasser i

MS-Office ia an examile of
{A) am operating syetem
(B & teleeommunication software

(C) a programming language
(D} a prodactivity software

In Indua, the day g September is celebrated
an'Ihndwr'nﬂa:.r-huhnmurﬂuhnihduyuf

(A) Habindra Nam’[‘a'mn ]
(By D S Ra.dha.krmhnan .
(CF Der. Rajendra Pragad

(% Mrs. Indirs Gandhi

Which ameng the following polluting agenis
is regprmunble for creating & hulu in the aznne
layer ¥

(A} CO
(C) S0y

{B) CFC.
Dy CHy

sscportal.in
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Fly ath is. °

(&) COy

(B} Organic particulate matter
(C) Small ash particles

(D} NOy

Additien of chloring to raw water before
treatment is known as

(A} Plain chlorination

(B) Post-chlorination

(€} Pre-chlorination

(I Supér-chlorination

Which of the following is ast a water
Lrentment technique 7 | -

(B) Ion exchange
() Electro-dialysis .
(T} Elertrostatic precipitation

Which one of the following is 8 major indeor
air pollutant in Tndia 7

(A} Ovone

(B) Prrowy Acetyl Nitrite (PAN)

(€} Carbon monoxide

(D) Bulphur dioxide

Multi Drug Therapy i6 for the infection of
(A) Leproay

M) AIDS

1€y Cholers .

(D} Hepatitis

B

100,

Volvo, the car menufecuring company,
introduced '

(AF Alarm
(B Fog light
(C} Sonat helkg

(D} Eear view mirrorg

The Dark Continent is

(A} Asia

(B Australia

(Cr Africa

(D) Europa

The major constituent of air s
(A) Nitrogen

(B) Carbon dioxide

(€ Osygen

(D) Hydrogen

The souring of milk to curd is 6n example of

(A} Seponifiestion
{B} Putrefaction

(C) Fermentation

(D) Esterification

Which one of the following eompounds is
formed when formaldehyde is treated with
Grignard reagent 7 :

(A) Primary aboohol

(B) Secomdary aleohal

{C) Tertinry aleohol

(I Dihydric nleokol
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